TABLE OF CONTENTS

General ANChor BOIt NOLES ......ccooiiii e 3
ABOO10PE — Anchor BOIt Plan...........o oo 4
ABOO020PE - Sidewall Or Endwall Column Setback...............ccooviiiiiiiiriiiiiien, 5
ABOO30PE — Column At FiniSh FIOO.........coeeiiiiiiceiee e 6
ABOO40PE — Column Base POCKEL...........cooveeeeiicceeee e 7
ABOO50PE — Base Plate With Grout Required ..........cccccoooieiiiiiiiiiieieeeee e 8
ABOOG0OPE — Endwall Column Inset Detail — (Cold FOrm) ..........evvcceiiiiiineeeeenenen. 9
ABO070PE — Endwall Column Bypass Detail — (Cold Form) .........ccccoovvvveinnnnn. 10
ABOO8OPE — Endwall Column Inset Detail — (Built - Up) ....coovvriiiiiiiiiiiiee 11

Fixed Base Post & Beam Corner Columns (Inset Girt Conditions)............cccceeeeeeeeenee. 12
BU LT P .ttt e e e e e e e e e e e e e e aa e ————— 12
BUBRT PE ...ttt e e e e e e e e e e e e e e e e e eeaaaeaaaans 13
BUBLB P ... e e e e e e e e e e e e aaanaanaas 14
BUBRB _PE ...ttt e e e e e e e e e e e e e e e e e e e eannnnnnna 15

Fixed Base Post & Beam Corner Columns (Bypass Girt Condition)................ccceeennnen. 16
BUBBLTPE. ... oot e ettt e s s e e e e e e e e e e e aeeeeeeeennnnnnnns 16
BUBBRTPE ...ttt ettt s e s e e e e e e e e e eaeeeeeeennnnnnnnns 17
BUBBLBPE ...ttt ettt a e e e e e e e e e e e e e e e e eeaannannna 18
BUBBRBPE ... .ottt e e e e e e e e e e e r e 19

Single Or Double Cee Post & Beam Corner Columns.............coooevieeeeiiiiiiiiiiee e, 20
@ I I o PO 20
AR T P .. e e e e e ———————— 21
CALB _PE ..o ———————— 22
CARB _PE ... ..t —————— 23

Built - Up ENAWall COlUMNS..... oo e e e e e e e e eeeees 24
BUA L X P .. et e e e e e e e e e e eeaaaaaanaa 24
BUARX PE ..ottt a e e e e e e e e e e e e e e e e neannnannna 25

Fixed Base Intermediate Endwall Columns .............oiiiiiiiiiiii e, 26
BUBLX P E .. ettt e e e e e e e e e e e r e eeannnnnnna 26
BUBRX PE ..ottt et e e e ettt e e e e e e e e e e e e e e e e aeeeeannnnnnnas 27

Single Or Double Cee Endwall COIUMNS .........uviiiiiiiii e 28
@ I 28
(@7 e PO 29

Built - Up Rigid Frame Corner COIUMNS.........cooi i 30



m—

frocen) & ENGINEERIN

I
|
‘ BUILDING SYSTEMS |

BUBTLLPE ..ot e e e e e e e e e e e e e e eeesens 30

BUBTR _PE ..ot a e e e e e e e e e e e e e e eeeaneennnnns 31
BUBBL _PE ... et e e e e e e e e e e e e e ananannans 32
BUBBR _PE ...ttt et e ettt a e e e e e e e e e e e e e e e e eeeennnnnnnna 33
Built - Up Rigid Frame Sidewall Details .............uuueiiiiiiiiiiie e 34
L LG 15 =PSRRI 34
BUBBX PE ..ottt ettt e e e e e e e e e e e e anaanan—_ 35
Pipe & Tube INterior COIUMNS ........oiiiii e 36
RCAIN _PE .ot s e e e e e e e e e e e aeeeeeeeannnnnnans 36
SCAIN PEE ... .t e e e e e e e e e e e ———————————— 37
Built - Up INterior COIUMNS ... e e e e e e eeeees 38
BUAZIN P ... ettt a e e e e e e e e e e e e e e e e eeeanasaanans 38
BUBIN P . ... ettt ettt e e e e e e e e e e e e e e e e e eeeeenasaaaaes 39
ABO180PE — Sidewall Portal Frames — General Information..................ccoeeeee 40
Sidewall Portal Frame Corner COIUMNS ...........uuueiiiiiieiieee e 41
O G I o PRSP 41
PCOBTR _PE ..ottt s s e s e e e e e e e e e e aeeeeeeennnnnnnnns 42
PCBBL _PE ... e oot e e e e e e e e e e e ananannna 43
PCBBR _PE ...ttt ettt e e e e e e e e e e e e aeanaaannna 44
PCBBLXPE ...ttt e e e e e e e e e e e e aaaaaaaa—_ 45
PCBBRXPE ...ttt e e e e e e e e e e e 46
O G 1 00 PRSP 47
PCOBTRXPE ...ttt ettt a e e e e e e e e aaaaeeeeeeeannnnanaas 48
ABO190PE — Corner Bracing Tee Plate Details...........ccooooiiiiiiiiiiiiiii. 49
Bracing Tee Plates (At INterior Bays)........coooviiiiiiiiiiiiiiee e 50
o 7 PRSPPI 50
o 7 o e =P PPPRRRRRRR 51
BT AB X P .. e e e e e e e e e 52
o 7 5 G PRSPPI 53

10.0.2



———

IGT=cm] PRODUCT & ENGINEERING MAY

"\ BUILDING SYSTEMS |

T x o

GENERAL ANCHOR BOLT NOTES
1. Nucor supplies (3) sets of 11”7 X 17" anchor bolt setting plans on all building
orders.

2. The anchor bolt patterns and foundation details in this section are shown
primarily to assist designers and estimators.

3.  Anchor bolt setting plans may be drawn using the data in this section. If such
a drawing is done, it must be submitted with the building order to ensure plan
details are followed.

4.  All anchor bolts are ASTM F1554 Grade 36 unless noted otherwise. Nucor
sizes the anchor bolt for shear and tension at the column base. All aspects of
the foundation design including anchor bolt embedment length and
development to the concrete is not by Nucor. The responsible architect or
engineer for a specific project must see that this is done by a professional who
is qualified for this type of work.

5. ANCHOR BOLTS AND NUTS ARE NOT SUPPLIED BY NUCOR AS PART
OF THE BUILDING ORDER.

6. In keeping with a continuing program of product development, all information
contained herein is subject to change.

7. Base plate elevation is assumed to be “at finished floor” (without grout) unless
specified otherwise on the order documents.

8. If “Bert” anchor bolt plan and reactions are used, they must be submitted with
the order documents.

9.  Standard anchor bolt projection is 3” above the bottom of the baseplate (grout
thickness needs to be added to the projection where grout is used).

10. IMPORTANT NOTE: The Nucor Anchor Bolt Setting Plan MUST be used
in lieu of the Architect’s Anchor Bolt Setting plan.

LAST REVISION
DATE: _ 08/14/08
BY: RJF CHK: AAJ 10.0.3




| 1 a'f 777 |
| |
fMucor|

|

BUILDING SYSTEMS

ABO0010PE — ANCHOR BOLT PLAN

1. STANDARD ORIENTATION SHOWN
2. TYPICALLY SINGLE SLOPE BUILDINGS WILL BE ORIENTED
WITH THE LOW SIDEWALL AT THE BOTTOM OF THE PAGE.

0
HE BACK SIDEWALL (BSW)
(Qf® | R STEEL
s | i—[H® T T T T = [~ [LINE
R T
= S S =
5 | T—|® o |— &
\/ﬁ .tlj Clj N
o - . S
- O @] o| <
<C. N N | =
=3 O+—|F® OH|—T©|2
prd (@) (@] 00 | L
(I “| “| —
m Q S 5
_ @“_ . H® O+ R —D |z
93 T
Bl — le)
| @8 L HA) ::© ::© ©:: @ ~ & ISTEEL
a4 1—4’] *| =" LINE
E% 20’_0” 20’_07’ 20’_0” 20’_0”
@ @ ©) @ ®
STEEL 80’—0" STEEL
LINE FRONT SIDEWALL (FSW) LINE

*NOTE: AT RIGID FRAME ENDWALLS, 1’—4 IS STANDARD SETBACK. THIS
DIMENSION WILL SOMETIMES INCREASE DUE TO AUXILIARY CRANE COLUMN
DEPTHS ON CRANE JOBS.

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.4
BY: RJF CHK: AAJ ABO0010PE.DWG e



dtls/ab0010pe.dwg

BUILDING SYSTEMS

i [ ® g ‘ 7;

1

Hu:::u:z
| =

AB0020PE — SIDEWALL OR ENDWALL COLUMN SETBACK

STEEL LINE (OUTSIDE FACE OF WALL GIRTS)

12 12” BYPASS GIRTS (BYPASS STD. @ SIDEWALL)
10”
t - 10” BYPASS GIRTS (BYPASS STD. @ SIDEWALL)
. 8" 8” BYPASS GIRTS (BYPASS STD. @ SIDEWALL)
T ! 8”,10”, OR 12" INSET GIRTS (INSET STD. @ ENDWALL)
'
| STRAIGHT
| 7 OR TAPERED
| COLUMNS
‘ | [m = 2" OR 4" AT 3/4” OR 1" BOLTS
| | = 3-1/2" AT 1-1/4" BOLTS
| H A A | | A EACH ADDITIONAL SET OF ANCHOR
[ [ ] BOLTS REQUIRED (BASED ON DESIGN)
/ IS SPACED AT 4” OR 5” ON CENTER.
A« o 1
/ 4"x4” BOLT PATTERN
/ AT 3/4” OR 1" DIA
ANCHOR BOLTS
/ 57x5” BOLT PATTERN
/ AT 1-1/4" DIA
- T T T ANCHOR BOLTS
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: __ 08/28/09 10.0.5

BY: DLC CHK: AES AB0020PE.DWG



dtls/ab0020pe.dwg

[

| ' NUCOR '

BUILDING SYSTEMS

ABO030PE — COLUMN AT FINISH FLOOR

COLUMN
//_
e
FINISHED
FLOOR
\ . . . .
AN /
\\ / SEE NOTE 2
\ /

n_— =/ —

NOTES

1. THIS CONDITION IS STANDARD AT ALL COLUMNS. [F COLUMN IS

TO BE RECESSED BELOW FINISH FLOOR (ABOQ40PE), IT MUST
BE REQUESTED AND QUOTED AS AN OPTION.

2. ANCHOR BOLT LENGTH TO BE DETERMINED BY FOUNDATION
ENGINEER FOR APPROPRIATE REACTIONS AND FOUNDATION
CONDITIONS.

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.6

BY: RJF CHK: AAJ ABO030PE.DWG



dtls/ab0030pe.dwg

BUILDING SYSTEMS |

EE==ll  PRODUCT & ENGINEERING

ABO0040PE — COLUMN BASE POCKET

COLUMN
//_
/
3” CLEAR
FINISHED ALL AROUND
FLOOR—\ BASE PLATE
S / TVARIES—
\\ [ A A 1 / SPECIFY
/ *—
\ / SEE
\ / NOTE 3
N2 2 / |
\_ _/

NOTES

COLUMNS MAY BE PLACED IN POCKET TO CONCEAL BASE PLATE

AND ANCHOR BOLTS.

2. THIS CONDITION MUST BE REQUESTED AND QUOTED AS AN
OPTIONAL CONDITION. THE STANDARD CONDITION IS FOR THE BASE
PLATE TO BE AT FINISHED FLOOR.

S.  ANCHOR BOLT LENGTH TO BE DETERMINED BY FOUNDATION ENGINEER
FOR APPROPIATE REACTIONS AND FOUNDATION CONDITIONS.

—_

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.7
BY: RJF CHK: AAJ AB0040PE.DWG e



dtls/ab0040pe.dwg

®

| |
HI_ICGF!

BUILDING SYSTEMS |

ABO05S0PE — BASE PLATE WITH GROUT REQUIRED

[SHIM PLATES —\
Y/ Y
0

/
/
i

SEE BELOW

=

COLUMN FLANGE
TOP OF %

CONCRETE—\
I

Cpg

w4
mipe <

FOR”3 4”7 1" AND 1/4” BOLT DIAMETERS
A 3" PROJECTION (MINIMUM) FROM THE
L, BOTTOM OF THE BASEPLATE IS REQUIRED.

VARIES — SPECIFY

15 Em

/
ANCHOR BOLT DIAMETER IS
/ SPECIFIED BY NBS. LENGTH
— — OF EMBEDMENT AND ANCHORAGE
SHIM PLATES DETAILS ARE BY THE ENGINEER
IF REQUIRED DESIGNING THE FOUNDATIONS.
(NOT BY NUCOR)
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: __ 08/14/08 10.0.8

BY: RJF CHK: AAJ ABO050PE.DWG



dtls/ab0050pe.dwg

BUILDING SYSTEMS

| 1 a'f 777 |
| |
fMucor|

|

ABO060PE — ENDWALL COLUMN INSET DETAIL — (COLD FORM)

NOTE: FOR EASE OF FABRICATION, COLD—FORMED COLUMNS
— MAY HAVE (6) BASEPLATE HOLES. ANCHOR BOLTS ARE
REQUIRED AS SHOWN ON THE DETAILS.

CENTERLINE OF DOUBLE CEE
OR BACK OF SINGLE CEE

4 STEEL LINE OF ENDWALL

—
~
—————
ENDWALL )
COLUMN ™
SPACING
e
\—COLD—FORMED CEE
27 4" ENDWALL COLUMN
®
1”7 8" MINIMUM
I
NOTE

1. NUCOR DESIGNS THE ANCHOR BOLT FOR SHEAR AND TENSION
FORCES, BUT DOES NOT DETERMINE THE EMBEDMENT LENGTH.
THIS IS THE RESPONSIBILITY OF THE FOUNDATION ENGINEER.

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.9

BY: RJF CHK: AAJ ABO060PE.DWG



dtls/ab0060pe.dwg

BUILDING SYSTEMS

| 1 a'f 777 |
| |
fMucor|

|

AB0070PE — ENDWALL COLUMN BYPASS DETAIL — (COLD FORM)

NOTE: FOR EASE OF FABRICATION, COLD—FORMED COLUMNS
MAY HAVE (6) BASEPLATE HOLES. ANCHOR BOLTS ARE
REQUIRED AS SHOWN ON THE DETAILS.

. STEEL LINE OF ENDWALL
CENTERLINE OF DOUBLE CEE
OR BACK OF SINGLE CEE
—'—
2”
ENDWALL
COLUMN o
SPACING
S
LCOLD—FORMED CEE
) ) ENDWALL COLUMN
2 4
[
8" GIRTS) 8" )
L(10” GIRTS) 10’ 8” MINIMUM
(8" GIRTS) 1'—0"
’ (10" GIRTS) 1'—2"
NOTE

1. NUCOR DESIGNS THE ANCHOR BOLT FOR SHEAR AND TENSION FORCES,
BUT DOES NOT DETERMINE THE EMBEDMENT LENGTH. THIS IS THE
RESPONSIBILITY OF THE FOUNDATION ENGINEER.

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.10
BY: RJF CHK: AAJ ABO070PE.DWG w-



dtls/ab0070pe.dwg

BUILDING SYSTEMS

i [ ® g ‘ 7;

1

Hu:::u:z
| =

ABO08OPE — ENDWALL COLUMN INSET DETAIL — (BUILT - UP)

CENTERLINE OF FRAME OR ENDWALL COLUMN

}— STEEL LINE OF SIDEWALL OR ENDWALL
s . - 4”x4” BOLT PATTERN
_. 2|5 | AT 3/4" OR 1" DIA
H e = 5 ANCHOR BOLTS
———V Z|< " ”
COLUMN @ S|= |[5"x5" BOLT PATTERN
SPACINGI @—@ —— | AT 1—1/4" DIA
[ g ~1E ANCHOR BOLTS
\—H—COLUMN MAY BE WELDED
H | A BUILT-UP SECTION OR
4 WIDE—FLANGE SECTION.
1”7 | 8" MIN AT EW B = 2° OR 4” AT 3/4” OR 1” BOLTS
12” MIN AT SW = 3-1/2" AT 1-1/4" BOLTS
® = 2" OR 2-1/2"
A EACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4” OR 5” ON CENTER.
NOTE

1. NUCOR DESIGNS THE ANCHOR BOLT FOR SHEAR AND TENSION
FORCES, BUT DOES NOT DETERMINE THE EMBEDMENT LENGTH.
THIS IS THE RESPONSIBILITY OF THE FOUNDATION ENGINEER.

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/28/09 10.0.11
BY: DLC CHK: AES ABO0SOPE.DWG w-



dtls/ab0080pe.dwg

ny

BUILDING SYSTEMS |

gr=al & ENGINEERING M

FIXED BASE POST & BEAM CORNER COLUMNS (INSET GIRT CONDITIONS)

BUSLT PE
$
5”
) ,]”
b
an o an an
1/ N @V @V 2
o\
¢ g
‘™~
an ) an) o)
N N N N
dﬁL 4 ,]/2” 5)) 5’) 2”
* *
*MAY VARY PER DESIGN
(8) ¢ ANCHOR
BOLTS WITH A 37 PROJECTION
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: __ 09/27/11 10.0.12

BY: RT CHK:_EGB BUSLT_PE.DWG



dtls/bu8lt_pe.dwg

1T = =1-2} 1

| BUILDING SYSTEMS |

PRODUCT & ENGINEERING MANUAL

BUSRT PE
$
27 5”7 57 4 1/2”
* * o
|
JAA JAA JAA JAA
N N N N N
N
A ¢
N
A A A D
PN P
,I »
5!7
*MAY VARY PER DESIGN &
(8) ® ANCHOR
BOLTS WITH A 3”7 PROJECTION
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: __ 09/27/11 10.0.13

BY: RT CHK:_EGB BUSRT_PE.DWG



dtls/bu8rt_pe.dwg

1T = =1-2} 1

| BUILDING SYSTEMS |

PRODUCT & ENGINEERING MANUAL

BUSLB PE
$ 5”
,In
P I N N 7
e &9 =
¢ A
Q\
N N N N
1 < 1 <
LA L L4
i
- 4_ ,1/2” 5” 5n 2n
* b S
$
*MAY VARY PER DESIGN
(8) ¢ ANCHOR
BOLTS WITH A 3" PROJECTION

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 09/27/11 10.0.14
BY: RT CHK: EGB BUSLB_PE.DWG b



dtls/bu8lb_pe.dwg

iHl.lt:l:n:z‘ —

BUILDING SYSTEMS |

PRODUCT & ENGINEERING MANUAL

BUSRB PE
5” $
,I”
A AN A D
T | Y| Y
R — ¢
N
JdA) JdA) J4A JdA)
N N N N
i
2" 5" 5" |4 1/27 —
* *
$.
*MAY VARY PER DESIGN
(8) ® ANCHOR
BOLTS WITH A 3”7 PROJECTION
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 09/27/11 10.0.15

BY: RT CHK:_EGB BUSRB_PE.DWG



dtls/bu8rb_pe.dwg

Gl PRODUCT & ENGINEERING

FIXED BASE POST & BEAM CORNER COLUMNS (BYPASS GIRT CONDITION)

BUBSLTPE
; [
7 N
“ﬁ_ 4 99 5 ) 5 ) 4 99
R * *
Jan) any )
N N N -
[Q\|
<5 N
‘™~
Jan) any )
R N N N
b
B
A
*MAY VARY PER DESIGN
(8) @ ANCHOR
BOLTS WITH A 3”7 PROJECTION
A=8",10", 12’
B = “A” MINUS 2~
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 09/27/11 10.0.16

BY: RT CHK: EGB BUBSLTPE.DWG



dtls/bub8ltpe.dwg

w7

i’HUCOR‘

| _a——
f BUILDING SYSTEMS

BUBSRTPE
T
4” 5 ly ly 5 4 , :ﬁ_
i R |
any Y M 1 M
. N N N "N
N
- T
o any Y pany )
N N N N
3
B
A
*MAY VARY PER DESIGN
(8) ¢ ANCHOR
BOLTS WITH A 37 PROJECTION
A=8",10", 12"
B =“A” MINUS 2"
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 09/27/11 10.0.17

BY: RT CHK: EGB BUBSRTPE.DWG



dtls/bub8rtpe.dwg

T

| |
HI_ICGF!

BUILDING SYSTEMS |

BUBSLBPE
477 5” 5” 417
X X
P
N N JARY JARY
N N N N -
g Q\
Inl
\Ii N N
E ~
N N N N
N N N N
~
|
" B
A
o
T
*MAY VARY PER DESIGN
(8) ® ANCHOR
BOLTS WITH A 3" PROJECTION

A=8"10" 12"
B =“A” MINUS 2"

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 09/27/11 10.0.18

BY: RT CHK: EGB BUBSLBPE.DWG



dtls/bub8l8pe.dwg

®

BUILDING SYSTEMS

BUBSRBPE
477 5” ) ) 5” 4 ’ g
o N
an) an) M
. N N N
o
N an) an) M
N N N
<
|
B “ﬁ
A
[
N
*MAY VARY PER DESIGN
(8) ¢ ANCHOR
BOLTS WITH A 3” PROJECTION
A=8",10", 12"
B =“A” MINUS 2”
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: __ 09/27/11 10.0.19

BY: RT CHK: EGB BUBSRBPE.DWG



dtls/bub8rbpe.dwg

BUILDING SYSTEMS |

GE==  PRODUCT & ENGINEERING M

SINGLE OR DOUBLE CEE POST & BEAM CORNER COLUMNS

CALT PE
N, SIDEWALL STEEL LINE
L) ORIENT THE "TOES” OF
= SINGLE—CEE COLUMNS
B TOWARD THE LOW EAVE
Lol
2 Lot 3]
<+ 5 8 1/2” MIN.
L 1’=0 1/2" MAX.
S < — —
= fan
2 D N
Led (Q\| .
Ar@ Y 3 AT‘\OC)
i ks
D N/
L |
A ‘ 2” 4_?)
|
P ¢
/I|/ /I|/
BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.
(4) 3/4” ¢ ANCHOR
BOLTS WITH A 3" PROJECTION

¢ Double Cee Columns are factory welded together. Base Plates and Cap Plates are also
factory welded.

A= 0” — FLUSH
1" —INSET
8” — 8" BYPASS GIRTS
10" — 10” BYPASS GIRTS
12" — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.20

BY: _RJF CHK: _AAJ C4ALT_PE.DWG



dtls/c4lt_pe.dwg

| e
f BUILDING SYSTEMS

C4ART PE

¢ Double Cee Columns are factory welded together. Base Plates and Cap Plates are also

w7

i’HUCOR‘

SIDEWALL STEEL LINE

@=x
ORIENT THE "TOES” OF L
SINGLE—-CEE COLUMNS =
TOWARD THE LOW EAVE :,'
9 (] «
8 1/2" MIN. =
17"—0 1/27 MAX. R
=i
— — Z’ A
— N
| CRENGE :
.| &
00| e = </
~ i
T k) _E} I
[ R J—
4” 2n J A
|
¢ )
J J

»

BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.

(4) 3/4" @ ANCHOR
BOLTS WITH A 3" PROJECTION

factory welded.

A

0" — FLUSH
1" — INSET

8" — 8" BYPASS GIRTS
10" - 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

LAST REVISION
08/14/08

DATE:

DETAIL NAME IF APPLICABLE

BY: _RJF CHK:

C4RT_PE.DWG



dtls/c4rt_pe.dwg

w7

i’HUCOR‘

| e
f BUILDING SYSTEMS

C4LB PE

- A =
I _
| {9_ \J =
I I N
PN - — — — = ﬁL:w
: & h
_ —
X E = \‘J —
" — 3
Y G 8 1/2" MIN.
- 1 [ ’ I
— g 17"=0 1/27 MAX.
% ORIENT THE "TOES” OF
6| sipewa SINGLE—CEE COLUMNS
( SR LINE TOWARD THE LOW EAVE

BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.

(4) 3/4" @ ANCHOR
BOLTS WITH A 3" PROJECTION

¢ Double Cee Columns are factory welded together. Base Plates and Cap Plates are also
factory welded.

A= 0” — FLUSH
1" —INSET
8" — 8" BYPASS GIRTS
10” — 10” BYPASS GIRTS
12” — 12” BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.22

BY: _RJF CHK: _AAJ C4LB_PE.DWG



dtls/c4lb_pe.dwg

BUILDING SYSTEMS

C4RB PE
L %
d 7
2 @ 29 %
4 2 A
|
— A =
o I
2 I 46} I
N I I
S Lo _ _
0 ES Ll <
[Q\| =
_ fi\ 4@ 3
— W — —
Ll
99 E =
8 1/2” MIN. % QIL
17"=0 1/2”7 MAX. <jt -
; A
ORIENT THE "TOES” OF %
SINGLE—=CEE COLUMNS L
SIDEWALL )
TOWARD THE LOW EAVE STEEL LINE
BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.
(4) 3/4” @ ANCHOR
BOLTS WITH A 3” PROJECTION

¢ Double Cee Columns are factory welded together. Base Plates and Cap Plates are also
factory welded.

A= 0” — FLUSH
17 —INSET
8” — 8" BYPASS GIRTS
10” — 10” BYPASS GIRTS
12" — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.23

BY: _RJF CHK: _AAJ C4RB_PE.DWG



dtls/c4rb_pe.dwg

BUILDING SYSTEMS

| 1 a'f 777 |
| |
fMucor|

|

BUILT - UP ENDWALL COLUMNS

4"x4” BOLT PATTERN

AT 3/4” OR 1” DIA
ANCHOR BOLTS

5”"x5" BOLT PATTERN
AT 1—1/4" DIA
ANCHOR BOLTS

m = 2 OR 4° AT 3/4” OR 1” BOLTS
3—-1/2” AT 1—1/4” BOLTS
® — 2" OR 2-1/2"

BU4LX PE
LENGTH )
L A n_ 4
f 1 1
| |
i °\F
- o =
<< —_ <
{ Too
@ |
| VARES |
(4) ¢ ANCHOR
BOLTS WITH A 3” PROJECTION
A=  0"—FLUSH
1" — INSET

8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

A FACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4” OR 5" ON CENTER.

LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 08/28/09

BY: _DLC CHK:__AES BU4LX_PE.DWG

10.0.24



dtls/bu4lx_pe.dwg

iHl.lt:l:n:z‘

BUILDING SYSTEMS |

BU4RX PE

A |
I‘ ]
!
\ " 4"x4” BOLT PATTERN
q} = AT 3/4” OR 1” DIA
- o ANCHOR BOLTS
'é 7 5"x5” BOLT PATTERN
= = AT 1-1/4" DIA
Q = ANCHOR BOLTS
| &
| m = 2" OR 4" AT 3/4” OR 1” BOLTS
! = 3-1/2” AT 1—1/4” BOLTS
[ VARIEES t|£ ® - 2" OR 2-1/2"
A EACH ADDITIONAL SET OF ANCHOR
(4) 8 ANCHOR BOLTS REQUIRED (BASED ON DESIGN)
BOLTS WITH A 3” PROJECTION IS SPACED AT 4” OR 5” ON CENTER.
A= 0"—FLUSH
1” — INSET
8” — 8" BYPASS GIRTS
10” — 10" BYPASS GIRTS
12” — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 08/28/09

BY: _DLC CHK:__AES BU4RX_PE.DWG

10.0.25



dtls/bu4rx_pe.dwg

®

GE=Rl  PRODUCT & ENGINEERING

BUILDING SYSTEMS

FIXED BASE INTERMEDIATE ENDWALL COLUMNS

BUSLX PE

$
4 1/2” 5” 5” 2”
* *
JARY JARY /A N
\V \V U \V 2
(Q\
¢ S
A by [
NP e
,]n
5”

*MAY VARY PER DESIGN

(8) ® ANCHOR
BOLTS WITH A 3” PROJECTION

**Inset Detail Shown

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: __ 09/27/11 10.0.26
BY: RT CHK: EGB BUSLX_PE.DWG b



bu8lx_pe.dwg

w7

i’HUCOR‘

| e
f BUILDING SYSTEMS

BUBRX PE

$
2” 5” 5” 4 »] /2”
b b
N N N /A
S N 1V 1V 1V
N
A — 1 ¢
B N B N N L N
P e

*MAY VARY PER DESIGN

(8) ® ANCHOR
BOLTS WITH A 3” PROJECTION

**Inset Detail Shown

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: __ 09/27/11 10.0.27
BY: RT CHK:_EGB BUSRX_PE.DWG



dtls/bu8rx_pe.dwg

GBI PRODUCT & ENGINEERING

SINGLE OR DOUBLE CEE ENDWALL COLUMNS

C4Ll PE

ORIENT THE "TOES” OF
SINGLE—CEE COLUMNS

¥ + | TOWARD THE LOW EAVE
% ) CE 29
A 2 4
L N ]
z o~
— RN
) r— —— 1 :7 00
: | |
% I D~ P
[ —
8 1/2” MIN.

1'—0 1/27 MAX.

BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.

(4) 3/4” @ ANCHOR
BOLTS WITH A 3" PROJECTION

e Double Cee Columns are factory welded together. Cee Column Base Plates and Cap Plates
are also factory welded.

A= 0” — FLUSH
1" — INSET
8” — 8" BYPASS GIRTS
10" = 10” BYPASS GIRTS
12" — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.28

BY: _RJF CHK: _AAJ C4LI_PE.DWG



dtls/c4li_pe.dwg

G PRODUCT & ENGINEERING MA

BUILDING SYSTEMS

C4RI PE

8 1/2” MIN.
1"—0 1/2” MAX.
—— =
o N I
- I / N [ L
o~ I I =
N L N —
Q| 7T 5
Y 0
D N —
NI NI %)
477 277 A
ORIENT THE "TOES” OF CE b
SINGLE—CEE COLUMNS

TOWARD THE LOW EAVE

BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.

(4) 3/4” @ ANCHOR
BOLTS WITH A 3" PROJECTION

¢ Double Cee Columns are factory welded together. Cee Column Base Plates and Cap Plates
are also factory welded.

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.29
BY: RJF CHK: _AAJ C4RI_PE.DWG



dtls/c4ri_pe.dwg

BUILDING SYSTEMS |

el PRODUCT & ENGINEERING!

BUILT - UP RIGID FRAME CORNER COLUMNS

BUG6TL PE

NOTE: The third digit of each detail name indicates the number of anchor bolts required. For
example: BUGTL requires (6) anchor bolts. BU4TL requires (4) anchor bolts.

—rbeﬁl‘

4"x4" BOLT PATTERN

AT 3/4” OR 1" DIA
ANCHOR BOLTS

5”x5” BOLT PATTERN
AT 1—1/4" DIA
ANCHOR BOLTS

VARIES

LENGTH

m - 2 OR 4° AT 3/4” OR 1” BOLTS
3-1/2" AT 1—1/4” BOLTS
® — 2" OR 2-1/2"

\

WIDTH
A EACH ADDITIONAL SET OF ANCHOR
(6) @ ANCHOR BOLTS REQUIRED (BASED ON DESIGN)
BOLTS WITH A 3” PROJECTION IS SPACED AT 4” OR 5” ON CENTER.

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/28/09 10.0.30
BY: DLC CHK: AES BUGTL_PE.DWG



dtls/bu6tl_pe.dwg

e -

' NUCOR l

BUILDING SYSTEMS

BU6TR PE

NOTE:

The third digit of each detail name indicates the number of anchor bolts required. For

example: BUGTR requires (6) anchor bolts. BU4TR requires (4) anchor bolts.

—T N\

,] ’_4”
¢
A\ & AT
wn <
L]
[nd
< [
N _év
I
A —
4 9
Ll
Al
_év
—_ N

" WIDTH

4”x4” BOLT PATTERN

AT 3/4” OR 1” DIA
ANCHOR BOLTS

5”x5" BOLT PATTERN
AT 1—1/4" DIA
ANCHOR BOLTS

m - 2 OR 4" AT 3/4” OR 1" BOLTS
3—1/2" AT 1-1/4” BOLTS
® — 2" OR 2-1/2"

(6) ® ANCHOR
BOLTS WITH A 3” PROJECTION

A FACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4” OR 5" ON CENTER.

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" - 12" BYPASS GIRTS

LAST REVISION

DETAIL NAME IF APPLICABLE

DATE: 08/28/09
BY: _DLC CHK:__AES

BU6TR_PE.DWG

10.0.31



dtls/bu6tr_pe.dwg

e -

' NUCOR l

BUILDING SYSTEMS

BU6BL PE

NOTE: The third digit of each detail name indicates the number of anchor bolts required. For
example: BUGBL requires (6) anchor bolts. BU4BL requires (4) anchor bolts.

%

LENGTH

A—FH—

VARIES

4”x4” BOLT PATTERN

AT 3/4” OR 1" DIA
ANCHOR BOLTS

5”x5” BOLT PATTERN
AT 1—1/4" DIA
ANCHOR BOLTS

m = 2" OR 4” AT 3/4” OR 1” BOLTS
3-1/2" AT 1—1/4" BOLTS
® — 2" OR 2-1/2"

(6) ® ANCHOR
BOLTS WITH A 3” PROJECTION

A FACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4” OR 5" ON CENTER.

A= 0” — FLUSH
1" —INSET
8” — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 08/28/09

BY: DLC CHK:__AES BU6BL_PE.DWG

10.0.32



dtls/bu6bl_pe.dwg

e -

' NUCOR l

BUILDING SYSTEMS

BU6BR PE

NOTE: The third digit of each detail name indicates the number of anchor bolts required. For
example: BUGBR requires (6) anchor bolts. BU4BR requires (4) anchor bolts.

|

L, 4”x4” BOLT PATTERN
A T AT 3/4” OR 1” DIA
L O ANCHOR BOLTS

Z ” bH]
Al O 5”x5” BOLT PATTERN

L AT 1—1/4” DIA
ANCHOR BOLTS

VARIES

< m - 2° OR 4" AT 3/4” OR 1" BOLTS
3—1/2" AT 1—1/4” BOLTS
® = 2" OR 2-1/2"

|\
Il

T
|
-,
—Th—

A FACH ADDITIONAL SET OF ANCHOR
(6) @ ANCHOR BOLTS REQUIRED (BASED ON DESIGN)
BOLTS WITH A 3” PROJECTION IS SPACED AT 4” OR 5” ON CENTER.

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: __ 08/28/09 10.0.33
BY: DLC CHK:__AES BU6BR_PE.DWG



dtls/bu6br_pe.dwg

—

BUILDING SYSTEMS |

GE==l  PRODUCT & ENGINEERINGA

BUILT - UP RIGID FRAME SIDEWALL DETAILS

BU6TX PE

NOTE: The third digit of each detail name indicates the number of anchor bolts required. For
example: BUGTX requires (6) anchor bolts. BU4TX requires (4) anchor bolts.

|
1

VARIES

4”x4” BOLT PATTERN

L AT 3/4” OR 1”7 DIA
ANCHOR BOLTS

5”"x5" BOLT PATTERN
AT 1—1/4" DIA
ANCHOR BOLTS

]

LENGTH

B - 2 OR 4” AT 3/4” OR 1° BOLTS
3—1/2" AT 1—1/4" BOLTS
® = 2” OR 2-1/2"

\

A FACH ADDITIONAL SET OF ANCHOR

(6) @ ANCHOR BOLTS REQUIRED (BASED ON DESIGN)
BOLTS WITH A 3” PROJECTION IS SPACED AT 4” OR 5” ON CENTER.
A= 0” — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" - 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/28/09 10.0.34

BY: DLC CHK: AES BU6TX_PE.DWG



dtls/bu6tx_pe.dwg

e -

' NUCOR l

BUILDING SYSTEMS

BU6BX PE

NOTE: The third digit of each detail name indicates the number of anchor bolts required. For
example: BUGBX requires (6) anchor bolts. BU4BX requires (4) anchor bolts.

4"x4” BOLT PATTERN

T AT 3/4” OR 1” DIA
o ANCHOR BOLTS
Ll 5"x5"” BOLT PATTERN
N AT 1—1/4" DIA
ANCHOR BOLTS
0
@ m = 2" OR 4" AT 3/4” OR 1” BOLTS
< = = 3—-1/2" AT 1-1/4" BOLTS
L ® = 2" OR 2-1/2"
A EACH ADDITIONAL SET OF ANCHOR
(6)  ANCHOR BOLTS REQUIRED (BASED ON DESIGN)
BOLTS WITH A 3" PROJECTION IS SPACED AT 4” OR 5” ON CENTER.
A= 0”—FLUSH
1” — INSET
8” — 8” BYPASS GIRTS
10" — 10” BYPASS GIRTS
12" - 12” BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: __ 08/28/09
BY: DLC CHK: AES BU6BX_PE.DWG 10.0.35



dtls/bu6bx_pe.dwg

' NUCOR '

BUILDING SYSTEMS

PIPE & TUBE INTERIOR COLUMNS

RC4IN PE

NOTE: Pipe columns are the standard. If different shape is required, please specify in Box 28 of

the order documents.

1/2”
N
N

— | |

oo

R

\/
&

)
P

1/2”
&
M
A
>
<
m

(4) @ ANCHOR
BOLTS WITH A 3” PROJECTION

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08

BY: RJF_CHK: _AAJ RC4IN_PE.DWG 10.0.36



dtls/rc4in_pe.dwg

' NUCOR '

re
. A jJ/: ’,L, ‘ ) =
BUILDING SYSTEMS . AR IRIA R /@

SCAIN PE
“Q 2” Il 2’7
- | | |
i i
. P
& | &
( )
T ol
L J
Q8 ¢ FRAME
(4)  ANCHOR
BOLTS WITH A 3" PROJECTION
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: _ 08/14/08
BY: RJF_CHK: _AAJ SC4IN_PE.DWG 10.0.37



dtls/sc4in_pe.dwg

®

BUILDING SYSTEMS

BUILT - UP INTERIOR COLUMNS

BU4IN PE

WIDTH
N . S
| | 4”x4” BOLT PATTERN
A A AT 3/4” OR 1”7 DIA
E .**‘ N AN ANCHOR BOLTS
2 - o 5”x5"” BOLT PATTERN
][ N 2 N A AT 1—1/4" DIA
D% N ANCHOR BOLTS
NN o~ & v o~ a0 ® = 2" OR 2—-1/27
¢ OF FRAME
(4) ¢ ANCHOR
BOLTS WITH A 3” PROJECTION
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/28/09 10.0.38

BY: _DLC CHK:__AES BU4IN_PE.DWG



dtls/bu4in_pe.dwg

[

' NUCOR '

BUILDING SYSTEMS

BUGIN PE

b

4”x4” BOLT PATTERN

AT 3/4” OR 1" DIA
ANCHOR BOLTS

5”x5" BOLT PATTERN
AT 1—1/4" DIA
ANCHOR BOLTS

LENGTH

|® = 2" OR 2-1/2" |

3

OF FRAME

A FACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4” OR 5" ON CENTER.

(6) @ ANCHOR
BOLTS WITH A 3" PROJECTION

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: __ 08/28/09 10.0.39
BY: DLC CHK:__AES BUGIN_PE.DWG



dtls/bu6in_pe.dwg

Hu:::u:z ‘

‘ BUILDING SYSTEMS \

ABO0180PE — SIDEWALL PORTAL FRAMES - GENERAL INFORMATION

The detail below shows standard dimensions & anchor bolt placement for Portal Frame Columns.
The detail shows anchor bolt locations for columns with 4, 6, & 8 anchor bolt requirements.

Typically portal columns will not have more than 4 anchor bolts required and the anchor bolts will be
1” diameter. However, variations occur — please check the design information carefully.

(Note that the rigid frame column and the portal frame column may not have the same bolt quantity or

PORTAL FRAME
[ COLUMN

4"x4” BOLT PATTERN

AT 3/4” OR 1” DIA
ANCHOR BOLTS

5”"x5” BOLT PATTERN
AT 1—1/4" DIA
ANCHOR BOLTS

diameter.)
VARIES

S -

COLUMNA °. 0
R R

5 | ¢ ,

Z

L

R s R D
e ¢ 4 o o
u | | | | 0
n 6_1/4" [ ] A A A g
& LENGTH =
>
Bl € SIDEWALL -

PCBX SHOWN

(REFER TO THE FOLLOWING PAGES FOR ADDITIONAL DETAILS)

LAST REVISION
DATE: 08/28/09
BY: _DLC CHK:__AES

m - 2 OR 4 AT 3/4” OR 1 BOLTS
= 3—1/2" AT 1-1/4" BOLTS
® = 2" OR 2-1/2"

A FACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4” OR 5" ON CENTER.

DETAIL NAME IF APPLICABLE

ABO0180PE.DWG

10.0.40



dtls/ab0180pe.dwg

BUILDING SYSTEMS

SIDEWALL PORTAL FRAME CORNER COLUMNS

PC6TL PE
1_4’,
P SIDEWALL
6 1/4” H
< f WIDTH { LENGTH Jrﬂ
x
RS wVhwwwuy <>(ﬁ¢_
H
{2 9 S—O—f ot
E o8
Y —o o> © 4>
N ; oo VARES | A | \l_PORTAL FRAME
FRAME * : * L COLUMN
COLUNN.{, i

] & ENGINEERING

4"x4” BOLT PATTERN

AT 3/4" OR 1” DIA
ANCHOR BOLTS

5"x5" BOLT PATTERN
AT 1-1/4" DA
ANCHOR BOLTS

2" OR 4" AT 3/4” OR 1” BOLTS
3—1/2" AT 1-1/4" BOLTS
2" OR 2-1/2"

A EACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4" OR 5" ON CENTER.

(4 ¢ ANCHOR
BOLTS WITH A 3” PROJECTION A

A= 0” — FLUSH
1" — INSET
8” — 8" BYPASS GIRTS
10" - 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 08/28/09
BY: DLC CHK: AES PC6TL_PE.DWG

10.0.41



dtls/pc6tl_pe.dwg

ny

gl & ENGINEERING

BUILDING SYSTEMS |

PC6TR PE
1'-4"
SIDEWALL b ]
N T 4"x4" BOLT PATTERN
1L u 6 1/4 AT 3/4” OR 1” DIA
o ., LENGTH . wotH L * ANCHOR BOLTS
= ! L 5"x5” BOLT PATTERN
[ < AT 1-1/4" DIA
IS u ANCHOR BOLTS
4 a D Fan T -
Il e " AV A% = §
ol +— A QS m =2 OR 4 AT 3/4° OR 1" BOLTS
=o | N I = 3-1/2" AT 1-1/4” BOLTS
9_ _E} » ”
® = 2" 0R 2-1/2
. -aﬂunﬁ — A EACH ADDITIONAL SET OF ANCHOR
rorrw g/ A | VvaRES Jele} Al BOLTS REQUIRED (BASED ON DESIGN)
1 VARIES T EBtn IS SPACED AT 4” OR 5" ON CENTER.
(B4gLTS WITH : ;'Ng:%FjEcmN // ///A
A= 0” — FLUSH
1” — INSET
8” — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: __ 08/28/09 10.0.42

BY: DLC CHK: AES PC6TR_PE.DWG



dtls/pc6tr_pe.dwg

ny

BUILDING SYSTEMS |

PC6BL PE

moees |8 & ENGINEERING

4”x4” BOLT PATTERN

AT 3/4” OR 1" DIA
ANCHOR BOLTS

5"x5" BOLT PATTERN
AT 1-1/4" DIA
ANCHOR BOLTS

2" OR 4" AT 3/4" OR 1" BOLTS
3—1/2" AT 1-1/4" BOLTS
2" OR 2—-1/2"

A EACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4” OR 5” ON CENTER.

) VARIES "
_ mavel @ @ VARIES : A 1 ,/15855% FRAME
g g A*F- & & - € EE
ol W e =
zZl 2 | & D @ € —F
u wn
C oWt LENGTH | % —
< 6 1/4" | m | n>
§ '\1',_ 4" L SIDEWALL =~
(BIEJ)LTS WITH : ;N(IZ’I-}I?(())SECTION / / / / /
A= 0” - FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10” — 10” BYPASS GIRTS
12” — 12” BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 08/28/09
BY: DLC CHK: AES PC6BL_PE.DWG

10.0.43



pc6bl_pe.dwg

N

| |
HI_ICGF!

BUILDING SYSTEMS |

PC6BR PE
t VARIES "
PORTAL_ ERAUE 2 VARES ,®@ @ FRAVE —
[ 'EB . 4"x4” BOLT PATTERN
AT 3/4” OR 1" DA
ANCHOR BOLTS
s 9— ’I\ T -—f I " n
Zle g 5L 5”x5" BOLT PATTERN
| +— Az E AT 1—1/4" DIA
=, $ - o |4 B ANCHOR BOLTS
[
_"m e wwis sy | H = 2" OR 4" AT 3/4” OR 1” BOLTS
x LENGTH | WIDTH | = 3-1/2" AT 1-1/4" BOLTS
< * b ® = 2" OR 2-1/2"
| ® ] 61/4
L A EACH ADDITIONAL SET OF ANCHOR
SIDEWALL T4 b BOLTS REQUIRED (BASED ON DESIGN)
d - § IS SPACED AT 4” OR 5” ON CENTER.
4) @ ANCHOR ¢

A= 0” — FLUSH
1" —INSET
8” — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: _ 08/28/09
BY: DLC CHK: _AES PC6BR_PE.DWG 10.0.44



dtls/pc6br_pe.dwg

®

| —— |
HI_ICGF!

BUILDING SYSTEMS |

PC6BLXPE

' VARIES "
FRAME L , VARIES , A
COLUMN e (N ,/‘ ER T, FRAME 4"x4” BOLT PATTERN
3 # AT 3/4” OR 1" DIA
ANCHOR BOLTS
T - o1t - - - 5”"x5" BOLT PATTERN
oA = AT 1—1/4" DIA
& ,L $ 1 L o] = ANCHOR BOLTS
- V A\
] b " B - 2 OR 4 AT 3/4 OR 1 BOLTS
rrr T L = 3-1/2" AT 1-1/4" BOLTS
. ) WIDTH 1L" I[ENGTH 1L§ = 2" OR 2-1/2"
6 1/4 I A EACH ADDITIONAL SET OF ANCHOR
L — o BOLTS REQUIRED (BASED ON DESIGN)
: IS SPACED AT 4" OR 5" ON CENTER.
(E4(-))LTS WITH A¢ ;" N(IE’:(())'}ECTION /// /// ////
A= 0” — FLUSH
1” — INSET
8" — 8 BYPASS GIRTS
10" - 10” BYPASS GIRTS
12" — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: __ 08/31/09 10.0.45

BY: DLC CHK: AES PC6BLXPE.DWG



dtls/pc6blpe.dwg

IG=)l  PRODUCT & ENGINEERING.

BUILDING SYSTEMS |

PC6BRXPE

' VARIES .
. A VARES e o, FRAME —
P°RTALCEEGME_\ T COLUMN 4"x4” BOLT PATTERN
I AT 3/4” OR 1” DIA
ANCHOR BOLTS
- o~ O—& & 1 o s 5"x5" BOLT PATTERN
B ° Al © AT 1-1/4" DIA
= ° ,L & ANCHOR BOLTS
" u m = 2" OR 4" AT 3/4” OR 1" BOLTS
L — e wwawwy | = 3-1/2" AT 1-1/4" BOLTS
2 | LENGTH { WIDTH | _ 2" OR 2-1/2"
> | m | 61/4 <
i A EACH ADDITIONAL SET OF ANCHOR
SDEWALL - BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4" OR 5" ON CENTER.

N i,

A= 0” — FLUSH
1" —INSET
8” — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/31/09 10.0.46

BY: DLC CHK: AES PC6BRXPE.DWG



dtls/pc6brxpe.dwg

g

| |
HI_ICGF!

BUILDING SYSTEMS |

PC6TLXPE
SIDEWALL
6 1/4” m | 4”x4” BOLT PATTERN
{ AT 3/4” OR 1" DIA
< Jr WIDTH Jr LENGTH T@ AN{)HOR BOLTS

5"x5” BOLT PATTERN
- AT 1-1/4" DA
ANCHOR BOLTS

A Fan\ Van oD VanY
3 U 3 V

LENGTH
>
WIDTH

]

2" OR 4" AT 3/4" OR 1" BOLTS
3-1/2" AT 1-1/4" BOLTS
2" OR 2-1/2"

(o]e

D T Oo—P

o
A\
o

;FF%I' ! A EACH_ADDITIONAL SET_OF ANCHOR
) ¥ VARES | AL\ gy e BOLTS REQUIRED (BASED ON DESIGN)
COLUNN: VARIES IS SPACED AT 4” OR 5" ON CENTER.

|
(4) ® ANCHOR 4
BOLTS WITH A 3” PROJECTION // / / / / A

A= 0” — FLUSH
1" —INSET
8” — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: _ 08/31/09
BY: DLC CHK: _AES PC6TLXPE.DWG 10.0.47



dtls/pc6tlxpe.dwg

N

| |
HI_ICGF!

BUILDING SYSTEMS |

PC6TRXPE

SIDEWALL L
| m 6 1/4” 4”"x4” BOLT PATTERN
¢ AT 3/4” OR 1” DIA
<
@ ]» LENGTH t WIDTH { ANCHOR BOLTS
g— 'mjm 5"x5"” BOLT PATTERN
= AT 1-1/4" DIA
i} L Y N I N ANCHOR BOLTS
x °| 5
o o A z B - 2 OR 4 AT 3/4" OR 1” BOLTS
£ > - & P |— - = 3-1/2" AT 1-1/4" BOLTS
= 2" OR 2-1/2"
PORTAL FRAME ' | A | VARES oo | N A EACH ADDITIONAL SET OF ANCHOR
COLUM — VARIES T\ e BOLTS REQUIRED (BASED ON DESIGN)
] } COLUMN IS SPACED AT 4” OR 5" ON CENTER.
(4) @ ANCHOR
BOLTS WITH A 3" PROJECTION // // // // // //A

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" - 12" BYPASS GIRTS

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/31/09 10.0.48
BY: DLC CHK: AES PC6TRXPE.DWG w-



dtls/pc6trxpe.dwg

-

HI_IC:UF!

f BUILDING SYSTEMS |

ABO0190PE — CORNER BRACING TEE PLATE DETAILS

NOTE:

BRACING TEE PLATES ARE USED WHEN A COLUMN IS ROTATED SUCH
THAT ROD OR CABLE BRACING CANNOT PASS THROUGH THE
COLUMN’S WEB.

SIDEWALL SIDEWALL
2 POST & BEAM _
T L E%%V&/é%— g 9 TEE—PLATE ol
ﬁ_
=E COLUNMN| ¢ 4 kT e @ <\
= = O |+~
2 | & o o o |
H Rl 2P E
G !COL. DEPTH! ” 8” ICOL. DEPTH! G
G COL. DEPTH 8" 8" COL. DEPTH G
2”
. am i !
- 1
Ak ® e ¢ @ | Eh
118 e e & N
SIDEWALL SIDEWALL

_ "] NOTE: WHEN THE SIDEWALL END
* T PRl OIRLOTFSTT + 57 BAY IS BRACED AND' THE ADJACENT
b S Sl e, | R BT B e
— 10" BYPASS + 6" = 1'=4 | TEE PLATE AS SHOWN ABOVE.

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 07/24/12 10.0.49
BY: MWD CHK: AES ABO0190PE.DWG w-



dtls/ab0190pe.dwg

BUILDING SYSTEMS

IBF==A] PRODUCT & ENGINEERING

BRACING TEE PLATES (AT INTERIOR BAYS)

BT4LX PE
¢
P
2", 2
: S ||| ©
N I
N
O ||| ©
8”
(4) ¢ ANCHOR
BOLTS WITH A 3" PROJECTION

A = GIRT OFFSET PLUS 4”

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.50
BY: RJF CHK: _AAJ BT4LX_PE.DWG -V



dtls/bt4lx_pe.dwg

GE==0Al  PRODUCT & ENGINEERING MANUAL

BT4RX PE

"
3 . ?
2”1 2

& ||| &1+

. N Sol
& || ©1—
K‘J

877

(4) ¢ ANCHOR
BOLTS WITH A 3" PROJECTION

A = GIRT OFFSET PLUS 4”

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.51

BY: _RJF CHK: _AAJ BT4RX_PE.DWG



dtls/bt4rx_pe.dwg

GE=A]  PRODUCT & ENGINEERING MANUAL

BT4BX PE
2
A A
N Y
= . . 00
N
D )
N N
<C
2" ] 2”
’|77
3
S==
(4) ® ANCHOR
BOLTS WITH A 3” PROJECTION

A = GIRT OFFSET PLUS 4"

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.52

BY: _RJF CHK: _AAJ BT4BX_PE.DWG



dtls/bt4bx_pe.dwg

GE=A]  PRODUCT & ENGINEERING MANUAL

BT4TX PE
a=S
L
2" ] 2”
<C
M M
: N N
N o~
() . I “OO
N
M M
N N
8”
’|
(4) ® ANCHOR
BOLTS WITH A 3” PROJECTION

A = GIRT OFFSET PLUS 4"

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.53
BY: RJF CHK: _AAJ BT4TX_PE.DWG -V



dtls/bt4tx_pe.dwg

	Table of Contents
	General Anchor Bolt Notes
	AB0010PE – Anchor Bolt Plan
	AB0020PE – Sidewall Or Endwall Column Setback
	AB0030PE – Column At Finish Floor
	AB0040PE – Column Base Pocket
	AB0050PE – Base Plate With Grout Required
	AB0060PE – Endwall Column Inset Detail – (Cold Form)
	AB0070PE – Endwall Column Bypass Detail – (Cold Form)
	AB0080PE – Endwall Column Inset Detail – (Built - Up)

	Fixed Base Post & Beam Corner Columns (Inset Girt Conditions)
	BU8LT_PE
	BU8RT_PE
	BU8LB_PE
	BU8RB_PE

	Fixed Base Post & Beam Corner Columns (Bypass Girt Condition)
	BUB8LTPE
	BUB8RTPE
	BUB8LBPE
	BUB8RBPE

	Single Or Double Cee Post & Beam Corner Columns
	C4LT_PE
	C4RT_PE
	C4LB_PE
	C4RB_PE

	Built - Up Endwall Columns
	BU4LX_PE
	BU4RX_PE

	Fixed Base Intermediate Endwall Columns
	BU8LX_PE
	BU8RX_PE

	Single Or Double Cee Endwall Columns
	C4LI_PE
	C4RI_PE

	Built - Up Rigid Frame Corner Columns
	BU6TL_PE
	BU6TR_PE
	BU6BL_PE
	BU6BR_PE

	Built - Up Rigid Frame Sidewall Details
	BU6TX_PE
	BU6BX_PE

	Pipe & Tube Interior Columns
	RC4IN_PE
	SC4IN_PE

	Built - Up Interior Columns
	BU4IN_PE
	BU6IN_PE
	AB0180PE – Sidewall Portal Frames – General Information

	Sidewall Portal Frame Corner Columns
	PC6TL_PE
	PC6TR_PE
	PC6BL_PE
	PC6BR_PE
	PC6BLXPE
	PC6BRXPE
	PC6TLXPE
	PC6TRXPE
	AB0190PE – Corner Bracing Tee Plate Details

	Bracing Tee Plates (At Interior Bays)
	BT4LX_PE
	BT4RX_PE
	BT4BX_PE
	BT4TX_PE


